Es 4

—

A-12D 8RS B-isD e 5RF X wnfa i peui R

(i)
x~B(3%)  E[X]-%

(i)
C: { Stleao Ag Q,- {S&eﬂo B} P(.CA): PCCI}: 4/2
D’ {PMQ@,UO BRS
A 4 * .

b L P(D1 ) P BEik ’s

PP+ POIG)PI) E2ek b 33
P(DIC)= 4.2 .3_ ¢

5 3 ¢ 15
PDIC)= 4.4 .3 - 4
Es.2
(1)

f X(.x) dx =4 <=> J43x° dx =14 = 3flxco(x:4 L=k

<>3[c:] > 2o l- 4 c=>C22

E[x-_‘:fo Xg(x)clx= LXBXZ dx = 3£‘X3: g

4

Vo 0= ELX*I- ECXT - 2.3 W4

:80

8\



E[ XZJ" Jj3x" olx = 51

5
(id)
’Z’-X{&-...-I' Xeo YNNCO”')
WZM)PUvi?%e%@) P(Ye-2)-2(2)

- 4-0(2) ~ 0.022%5

Xl;---) XG NN(}“,(:)
Yu---, Ve N/\/(/«Lz,dz‘z)
ZAI"')ZG Con Z;JZX,,' '—y# -4, .6

()
2i N, ey 65 4 o)

2o=% Vi qumi Yo v NCpo, i) = 2= Xt (Yi)
v A/(/h '/‘z,G;?i- 6';2)

(c)
d=0.05 H.,)/I{-/Jz:/v(z 4—«5?:: 0.9t5 ml= &

W acatate se 17000 € 2, 0

FIE %in = %(5#A+3+‘8+o-2)= 3



S- 4 D(xi-%x) - i[4+4+o+ 25+9%25 (- 64
m-1 D 5

~ 2 5t06

(0.9ts,5)

13-01 2 % 25106 ¢<=> 3134328 N, audleta

ANt
Ciii) -
2-204 7l ([ ]> 03
APy A D AT
2 [4- F;(/Iﬂ% .13/@] 2 0.3 &=> 2- 2%(:‘—@ f3—//a|) > 03

AC (3, _>|Ad
cL> %(@Ia M |)é 0.85 <—>@— |3'/42' éf(o_ss,S)

¢> AL [3-f, 1 < 44558 <=> 13-Meal £ 1(8815
i

M, € (3- 168815, 3+168815)



